[ 028 [ZHI A (van |
1 i
AR LS
BOE LTZREE R 2 71 I Am20a, 7 A ARy (ANDR) 2la, ARy Z2la, 7Ry al)— (k&) 50a, AKFE100a, #EAE30a
H % 9% @ |2A
e DAl

2 {EMHAR

IR H 1 2 3 4 5 6 7 8 9 10 11 12
RAEWR N——© 000
MBI N R, O, —kEEHE, DIGE
3 itk Bk (i BL R= (1 —FEFHE) (HAZ : 1)
[HIAE AER| AfnmER BR[| FEE | s | WEBE [ACEAN BOBER
7 | 15 RE B | BUSmAR A (B) 25| (D) B mEE (F) [ Al ¥
(A) (A) XR (©|B) =+ (C) E) [W-0) X E)  (©) | @ x© xFFHE
B ARG - 50 i | 3,150,000 8 | 260,330 260,330 | 15 17, 355 8 121, 488 100 4, 860
N H— 25ps - 4WD 1 & 3,067,900 8 | 253,545 253,545 | 7 36, 221 4 108, 662 20 869
0—F 1 — 160cm 1 & 440,000 8 36, 364 36,364 | 7 5, 195 4 15, 584 20 125
TERE 4. 2ps 1 & 361, 900 25 90, 475 90,475 | 7 12, 925 4 38, 775 100 1,551
i) ) e i Reps] 1 & 280, 390 25 70, 098 70,098 | 7 10,014 4 30, 042 100 1,202
PR 3. 7PS 1 & 271, 700 15 40, 755 40,755 | 7 5, 822 4 17, 467 100 699
Br7 v/ 660cc 1 & 1,200,000 22 | 264, 000 264,000 | 4 66, 000 2 132, 000 100 5, 280
ot 8, 806, 390 1,018,418 | 1,018, 418 153, 939 465, 239 14, 634




4 BARER

10a ¥729)

e ¥ 4 i i Fetrpka - fEA 10a ¥/ INE EE) e R
Any 2713 v 2, 300kg|HEZK B 4T 727K B 314 20a
HH B OB Ok % N
10a 7= V) VE3EIREH] Ok
TEZEHIH &M 4 fif & (=24 VEEERE BE K OV BRI | F0 | AES7 8 W
== 1/f0~F /%) R (AE | B B | gz /10a)
e R OE |2/ T M7y (RL) 100kg Wh7yr |OxMEMM, ik, i, .0 2 26.0 |1V 2.2
AR R 100kg rF o a2 — 1.0 1 HRiM 4.5
WiVESE 80kg 0—4 Y —
IB{LAkS1 %5 40kg 1.0 2 4.0 |07 4.0
75 JINEL 5656 80kg
P 40kg
F~= U »m— ZHiAl20kg
PR OWEST T
3/ k 7 L~— LAl 300cc o ETEN  |OBRERI A 0.5 2 32.0 [17V)v 0.5
FrdbE=—L 400m OWERF =7 <V, Wil
NE V5 T:s 4604
MEZ AR
I A —
WKF 2—7 —3
E o [4/ - 5704 OFEM%., L1 Yx+v v 7a2HT 5, 2 16.0
ALY Xx v 570K
77 B TRl 1140g
W E B[4/ k~6/T OIEEE T hrxVZ2EA L, mil 1 36.0
FR3 9 2R3 %,
OEBBIILA Y X v v T EBRETD
e - 8 [4/k~5/Lk OFRIEAM TR L. WioToFo52K 2 20.0
HSrT e 5,
O 1358 E TOMBILRDIZEREL
I~ 12fi AR TERK LT 5,
I3HEiAREDOMIL BERE L, OS2
F2~3ARFET,
O3 2 1 X208ifi14 TR 5.
O RH L0 S 1 HEFR L TROITHN
= Bl |5/ ik O UL HER % T G023 2 7= 6 75 B g 1 2.0
Wi o5,
i ®O|5/F OFIIRDE, 15528127 %, 2 12.0
v— M E 6/ 1 >—h 2, 2004% OB — MIEEITD, 2 12.0
W Ko |4/ E~6/ HEK % OfEEE TH S &K, 1 12.0
OFINKE~BATEL400 HE TIT 5,
AR [4/ F~6/T O 1X10ai & |BY )EFZRE  |OBEER. 228, ~Ef, > LA 2.5 2 5.0 |17y 2.5
07" 5=k FaF 100g (1000) . NE=HH T T T AVEEDR
FARERL KRN 20g (1000) AR L CBBREAT O,
VTR A KRNl 250g (1500)
4 22-11000 200m1 (2000)
7N A=K RNl 100g (2000)
TIA-207077" 100m1 (2000)
anv/ ML 200m1 (2000)
ULHE - Wil |7/ B~/ | R v BKr7 v |OFRES0~55H TIHE, 5.0 2 19.0 [B7Y)v 11.0
=V
%O AT 1 12.0
- P 208. 0




5 EEME 10a%720)
X5 FHH ot i) B 2|
TREMGEE® 1,021, 200 AEED: 2,300 kg HF@ : 444 M kg
HLN S EREM AR 0 AP LA
FPEM AR 0 e X
RIEMMAE® 0
@) 1,021, 200
T ¢ 98, 040
ek # 50, 837 |EHIEM EITHIFERD LB Y
APEIGAN (R M # 24, 634 n
WM OB # 136, 905 n
4 ) BN 5,311
A # 15,162 |BEMREHEANAR X 4 %
) FERE 1,302 |9 - WS EHRABAR X 1 %
& BB & 0
It e 0
B W9’ 0
PE WA 125 © 76,970 [BIERD LBV
LR 3, 500
X HAR® 0
N B 412, 660
JRTE A — i | AT A 51, 344
B W o7e w & 131, 092
# AR AH e 2,102 [EHIRERE. HHOEL, [ E & R
EEHEE 2,334 |FEEEHTMNE GO, BN
SHFRD 994 |fE NEAFIFH 2 %
ANEE (0 187, 865
woH (D) 600, 525 # 0 = ®) + (©
FNET5 B2 AR 322,400 (B 1€ 97 M) W R - 208.0 ‘EPEEPRIMBINERT  40.0 1,300 FJ/HER
SCHRF - R AP (E) 922,925 |EFEMHENLYLTZ0 401 [/ 1kg T (E) = (D) +®-@
HEBEA |[REEARTO© 16, 899 ) ©@= (B)—G—0) /2 X0.04
Fl+(F) | EE AR 7,317 |FI+# 4%
B OE MR (G) 2, 520
BRNAER (H) 949, 662 |[EPEMHALETZY 413 M,/ 1kg W) (M) = (E) + F) + 6)
BT 5 ) 420,675 |BERI72 0 1,696 [ M =0 - O
Bro5 R @) 41 ) () = (1) + () X100
JEEARZEFI ) 71,538 ) K =@- M)
B el L 393,938 |BFHY 7= 0 1,588 H oL =M - ® - ©
JR AT (M) 98, 275 o) = (D -®




6 Jr OIS RIS (10a 7 Y RERY)

H-H 14 24 34 44 54 64 7H 84 9H 104 114 124

(22 B O e O O e O I e O N e GO (N T N N (O e A U N e O 2 e O s O A O (O A S I B
A A 30.0 | 32.0 62.
Tt 16.0 16.
R A B 2.0 30| 30| 5 50| 50| 50| 50| 3.0 36.
ELENRE: 25 LO| 10| 40| 12 2.0 20.
22l 2. 2.
ELES 12.0 12.
v— hMEE 12.0 12.
ek 60| 20| 0.5 o 0.5 | LO| 1.0| 0.5 12.
973 5 LBl Lo| L 2.0 1.0 5.
U - 6.0 | 13.0 19.
#®H A 12.0 12.

at 00| 00| 00| 00| 00]30.0]320]| 00160]| 90| 60| 85| 20. 7.5 (3.0 60| 65| 9.0[130|120][ 00| 00| 00| 00| 00| 00| 00| 00| 00| 00| 00| 00| 00| 00| 0.0 00| 208

A E R L5 R ( 40.0 )




